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Class:VI Max Marks:40

Sub: English Duration:1hrs 30min

General Instructions:

*Answer all the questions correctly.
*Write neat and legible handwriting.
*All questions are compulsory -

SECTION A- READING
1.Read the following passage and answer the given questions: - 1x5=5M

Today, there are six species of pelicans living. Two of these, the white or rosy
Pelican and the spotted- billed Pelican are found in India.

Little is known why the bird is called a pelican. It is that since a very long time
Greeks, the Romans and most Europeans have known this bird by this name.
However, the Portuguese and Spanish call it Alcatraz. A rocky island in San
Francisco Bay in the United States is called Alcatras. The word literally means a
place of no escape, a prison. Pelicans once lived on this rocky island. Of the six
species of pelican, only one, the Brown Pelican of the America is a coastal and
marine bird. It is a fish-catcher, smashing headlong into the water with a
tremendous splash. Other Pelican species are highly social. Their food is fish and
their feeding strategy is charming. On an average, a pelican eats three kilos of fish
a day. Once full, the pelicans either continue floating on water or clumsily walk
onto some dry spot, where they spend time resting.
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With a heavy body and a ridiculous large beak, one would think that pelicans find
flying impossible. But they are among the beat fliers of the bird kingdom. Only
during take-off the pelican needs some effort. Once airborne it is a strong flier that
can fly for hours. The heaviest pelican weighs 11 kilos.

a) Of the six species of pelican, two are found in

i) America ii)Japan iii) India

b) Pelican is called Alcatraz by the

i) Americans ii) French iii) Portuguese and Spanish

c) The Brown Pelican of the Americas is a

i) good snake-catcher ii) slow swimmer iii) good fish-catcher
d) A Pelican’s food is

i) small birds i) fish iii) snakes

e) The word ridiculous means

i) light i) silly iii) heavy

2.Read the poem carefully and answer the following questions: 1x5=5M

The fisherman goes out at dawn
When every one's abed,

And from the bottom of the sea
Draws up his daily bread.

His life is strange ; half on the shore
And half upon the sea --

Not quite a fish, and yet not quite
The same as you and me.
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The fisherman has curious eyes ;
They make you feel so queer,

As if they had seen many things
Of wonder and of fear.

They're like the sea on foggy days, --
Not gray, nor yet quite blue ;

They 're like the wondrous tales he tells
Not quite -- yet maybe -- true.

He knows so much of boats and tides,
Of winds and clouds and sky !

But when | tell of city things,

He sniffs and shuts one eye !

Answer the following questions:
1.Who goes out at the dawn?

2.From where does he draw his food?
3.How is fisherman different from us?
4 What does the poet know about?
5.How is the eyes of the fisherman?

SECTION B- WRITING
3)lmagine yourself as Patrick and write a diary entry about how you felt on

finding the little man. In 60 to 80 words 1x5=5
&

4)Write the character sketch of the elf from the lesson ‘Who did Patrick's

Homework’ .In 60 to 80 words 1x5=5

SECTION C - GRAMMAR
5)Complete these sentences with suitable Subjects. Use a mix of nouns, noun
phrases and pronouns. 1%3=3
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a. always brings sandwich for everyone.

b. performed a trick.

e: are inside the cupboard.

6.Complete these sentences by adding suitable objects.
a. Please tell us
b. The bird was carrying in its beak.

c. The Principal asked
7.Add suitable adjectives to complete these sentences.

a. The flower smells .

b. The tomato soup tastes
c. The glass is

d. The car drove up a path.

SECTION D - LITERATURE

8.Read the given extract and answer the following questions.

i)What is a home?
It's loving and family
and doing for others
It's brothers and sister's
and fathers and mothers
It's unselfish acts

and kindly sharing and showing your loved ones

You're always caring
a. What according to poet is a house?
b. Briefly differentiate between house and home.
c. Who constitutes a home?
d. Explain “It's unselfish acts”.
9.Answer the following questions
1.How did Patrick help him?
2.Where did each of them find a home?(the birds)

1%x3=3

1x4=4

1X4=4

3%2=6

3.What did Patrick think his cat was playing with? What was it really?
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AN O,

Periodic Test-1 (2024-25)

SET-A
Class: VI/ Max Marks:40
Sub: Mathematics Duration:1Hr.30Min.

General Instructions:

e This question paper consists of 3 pages and VI main questions.

It contains 28 questions.

e |t consists of two sections, A and B. Section A is objective type and section B
is subjective type.

All questions are compulsory.

SECTION A

I..Choose the correct option and complete the statements 1Mx6=6M

1. The number of prime numbers between 10 to 25 is

a)5 b) 4 c)3 d) 2
2. The place value of 7 in 370345 is
a) 70000 b)7000 c)700 d) 7
3. The successor of the lowest composite number is
a)5 b) 6 gl 3 d) 2
4. is set of co-prime numbers.
a) (3, 4) b) (13, 15) c) (4, 6) d) (10,100)

5. The smallest seven-digit number among the following numbers is

a) 1230000 b)0000123 c) 1000023 d) 1000032

6. The product of smallest 3-digit number and smallest prime number is

a) 200 b) 204 c) 206 d) 202
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Il. State whether the following statements are ‘True’ or ‘False’ for 1Mx4=4M
7. Zero is the smallest Whole number. ( )

8. The predecessor of every number comes just before the number. ( )

9. The successor of a two-digit number is always a two-digit number. )
10. All even numbers are composite numbers. ( )
l11. Fill in the blanks: 1Mx5=5M

11. The difference between twin prime number is

12. The standard form 7,00,000+0+900+20+2 is

13. The prime factors of 12 are
14. The first four multiples of 7

15. The predecessor of smallest five- digit number is

IV. Match the following 1Mx5=5M
Q.No. Column A Column B Column C
16 23 i) Sum of three odd a. Indian system
numbers
17 {1.2.3, e o }lii) 92 X (100 + 2) b.21
18 90500041 iii) 1 X 23 c. Prime number.
19 5+7+9 iv) 9,05,00,041 d. Natural Numbers.
20 92 X 102 v) Counting numbers e.92 X100 +92 %X 2
Section B
V. Solve the following: - 2Mx4=8M

21. Express the following as the sum of two odd primes.

a) 24 b) 18
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22. Siri travels 105km by train and 25km by bus to meet her grand parents
staying far away. How far do Siri’s grand parents live from her town?

23. What is the difference between the greatest and the least number that can
be written using the digits 6, 2, 7, 4, 3 each only once?

24. Insert commas suitably and write the name according to international
system of numeration: 48049831

VI. Do as directed: - 3Mx4=12M.

25. Population of Tararagar was 2,35, 471 in the year 2001. In the year 2011, it

was found to be increased by 72, 958. What was the population of the city
in 20117

26. If you’re on a diet and have a breakfast consisting of 150 calories, a lunch
consisting of 350 calories, and a dinner consisting of 1000 calories, then find
the sum of the calories consumed that day.

27. A farmer has 45 rows of apple trees with 12 trees in each row. How many
apple trees are there in total? Write any two benefits of eating fruits.

28. A rectangle has an area of 48 square units. What are the possible

dimensions (length and width) of the rectangle if the dimensions must be
whole numbers? List all possible pairs of factors.
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RN Periodic Test-1 (2024-25)
Jindal vm.y.f i”:\x.ndir S et' A
.
Class: VI Max. Marks: 40
Sub: Science ’ Duration: 1Hr.30min

General Instructions:
 This question paper contains 3 pages and 28 questions.
e It consists of two sections A and B. Section A has objective type questions
and section B has subjective type questions.
o All the questions are compulsory.

Section-A

I. Choose the appropriate answer from the following. 5X1=5M
1.Which of these is not a nutrient?
(a) carbohydrate. (c) water
(b) vitamin C (d) fat

2. The state of matter which has a definite shape but no definite volume is

(a) solid (c) liguid
(b) gas (d) none of these

3. In which of the following diseases would you advise the intake of iodized salt?
(a) goiter (c) beriberi
(b) marasmus (d) scurvy

4. Assertion: Obesity occurs when one takes more food than requirement.
Reason: The extra food gets stored as fat and the person becomes too fat.
(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.
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(c) Ais true but R is false.
(d) Ais false but R is true.

5. Assertion: Materials which can be compressed or scratched easily are called
soft.

Reason: The materials which cannot be compressed easily are called hard.

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) A'is true but R is false.

(d) Ais false but R is true.

Il. Understand the first relationship and complete the following. 5X1=5M
6. Weak bones: calcium :: : potassium

7. Deficiency of protein:: kwashiorkor: : marasmus

8. Gold: lustrous:: : non lustrous

9. Salt: soluble:: : insoluble

10. Hard: chair:: : feather

lll. Name the following. 5X1=5M

11. Vitamin is not present in the milk.
12. Eggs, meat and pulses are rich in which main nutrient?
13. The fibrous indigestible material present in our food.
14. A substance through which light can pass partially.
15. What is the smallest particle of a compound called?

IV. Give one example for the following. 5X1=5M
16. Sources of mineral iron:
17. Energy giving food:
18. Symptom of disease Beri-beri:
19. Opaque substances:
20. One miscible liquid in water:
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Section-B

V. Give reasons for the following. 4X2=8M
21. Thermocol floats in water whereas iron nails sink in water.

22. Metals have lustre (shine). Give reason why some metal articles become dull
and lose their shine.

23. Children need more protein in their diet.

24. Water is called the ‘universal solvent’.

VI. Answer the following questions in detail. 2X3=6M
25. Explain how nutrients could be lost during cooking.

26. Name any three properties that can be used for sorting materials. Describe
each with an example.

VIl. Think and answer. 2X3=6M
27. Boojho was having difficulty watching things in dim light. The doctor tested
his eyesight, and he prescribed a particular vitamin supplement. He advised him
toinclude a few food items in his diet regularly.

(a) Which deficiency disease is he suffering from? (1M)

(b) Which component of food is he lacking in his diet? (1M)

(c) Suggest some two food items that he should include in his djet. (1m)

28. Arun, while taking a bath, dropped his soap in a bucket full of water deliberately.
Since he was getting late for school, he did not pick it up and decided to do so
after he came back from school. In the afternoon, there was no soap in the
bucket. The water in the bucket looked cloudy. Arun brought a torch and
showed its light into the bucket. He could not find the soap inside the water. The
light too did not pass easily through the water.

(a) What happened to the soap in the water? Which property of soap does this

show? (1M)
(b) Why did the torchlight not pass through the soap water easily? Which
property of soap water does this show? (1M)

(c ) What does this passage tell you about Arun's behaviour?  (1M)
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JINDAL VIDYA MANDIR, JSW HILL SIDE TOWNSHIP
Periodic Test-1 (2024-25)
Set-A
Class: VI Max Marks :40 Marks
Sub: Social Science Duration: 1:30 min

Jindal Vidya { Mandir
1ill Side Township

General Instructions:

i. Question paper comprises five Sections — A, B, C, D and E. There are 30 questions in the
question paper. All questions are compulsory.

ii. Section A — (objective) Question No 1 to 20 are MCQs of 1 mark each.

iii. Section B —D (Subjective) Question No. 21 to 26 questions are carrying 2,3&4 marks.

iv. Section E- Question No 27 to 30 is map, carrying 4 marks.

SECTION A
I. Choose the correct option from the following multiple-choice options. 10x1=10
1. Which is the smallest and the largest planet in the universe?
a. Mercury, Jupiter b. Mercury, Saturn  c. Mars, Saturn d. Uranus, Neptune

2. Who coined the Phrase “Unity in Diversity” to describe our country?

a. Mahatma Gandhi b. Dr. B R Ambedkar c. Dr. Rajendra Prasad d. Jawaharlal Nehru

3. Latitudes are measured in

a.centimeters  b. inches c. degrees d. none of these

4. Where did women and men first begin to grow wheat and barley about 8000 years
ago?

a. Satpura Hills b. Sulaiman and Kirthar Hills c. Garo hills d. Shivalik Hills

5. Where are Pashmina shawls woven?
a. Kashmir b. Haryana c. Punjab  d. Himachal Pradesh

Page 1 0of 3



6. There are two statements marked as Assertion (A) and Reason (R). Mark your answer as
per the codes provided below:

Assertion (A): Small pieces of rock which move around the sun are called meteoroids,
Reason (R): Sometimes a meteor without being completely burnt falls on the earth and
creates a hollow. '

a. Both A and R are true and R is the correct explanation of A.

b. Both A and R are true but R is not the correct explanation of A.

c. Ais true but R is false.

d. Ais false but R is true.

7. The word India comes from the Indus river. What is Indus called in Sanskrit?

a. Ravi b. Beas c. Sindh d. Sindhu

8. Saptarishi is a group of

a. 7 stars b. 6 stars c. 8 stars d. Galaxies
9. Who discovered the sea route to India?
a. Magellan b. Columbus c. Vasco da Gama d. none of these

10.There are two statements marked as Assertion (A) and Reason (R). Mark your answer as
per the codes provided below:

Assertion (A): There are several ways to find out about the past. One is to search books that
were written long ago.
Reason (R): These books are called Manuscripts, because they were written by hand.

a. Both A and R are true and R is the correct explanation of A.

b. Both A and R are true but R is not the correct explanation of A.
c. Ais true but R is false.

d. Ais false but R is true.

Il. Match the contents of the Column -A with that of Column- B. 4x1=4
Column - A Column-B
11. Kesar Saga (i) Torrid Zone
12. Equator (ii) study of inscriptions
13.Epigraphy (iii) Milky way
14. Akash Ganga (iv) Tibetan National Epic
lll. Fill in the blanks with the appropriate words. 6x1=6
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15. Historians and archaeologists are like

16. Onam is celebrated in

17. The difference in time between each succeeding degree of longitude is
18. crop was first grown in the north of Vindhyas.

19. The Greek word Planetai means

20. reached Tibet through Ladakh.

V. SECTION B (Very short answer questions) 3X2=6
21 Stars twinkle but planets do not. why?

22.What do you mean by skilled gatherers?
23. How was the Indian Flag used during the freedom struggle?

V. SECTION C (short answer-based questions) 2X3=6

24. What are celestial bodies?
or
What are asteroids? Where are they situated?

25. State two historical similarities between Ladakh and Kerala. How have they
influenced the culture of both the regions?

VI. SECTION D (Long answer based questions) 4X1=4
26. Distinguish between Parallels of latitudes and Meridians of Longitudes.
Or
Give an account of the heat Zones present on the globe with the help of a neat
diagram.

VII. SECTION-E (Map skill-based question) 2+2=4
a. There are two places A & B marked on the given outline map of India. Identify& write
their names on the line drawn near to them with the help of clues given.

27. Name the place where the first big kingdom started.
28. Where are Sulaiman Hills located?

b. On the same outline map of India locates and label the following.
29. Andaman and Nicobar Islands.

30. Garo hills
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